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Kvinder 

 
k
adA  = 0,0002 = 0,000200000 

k
adB  = 105,728-10+ln(0,4)/ln(10) = 0,000021383 

k
adC  = 100,038  = 1,091440336 

 
k
idA  = 0,0002  = 0,000200000 

k
idB  = 105,728-10+ln(0,4)/ln(10) = 0,000021383 

k
idC  = 100,038  = 1,091440336 

 
livrentek

adA ,  = 0   = 0,000000000 

livrentek
adB ,  = 103,4588-10  = 0,000000288 

livrentek
adC ,  = 100,0623  = 1,154240000 

 
livrentek

idA ,  = 0   = 0,000000000 

livrentek
idB ,  = 103,4588-10  = 0,000000288 

livrentek
idC ,  = 100,0623  = 1,154240000 

 
k
aiA  = 0,00060  = 0,000600000 

k
aiB  = 104,71609-10  = 0,000005201 

k
aiC  = 100,060  = 1,148153621 

 

Mænd 

 
m
adA  = 0,0002  = 0,000200000 

m
adB  = 105,88-10+ln(0,4)/ln(10) = 0,000030343 

m
adC  = 100,038  = 1,091440336 

 
m
idA  = 0,0002  = 0,000200000 

m
idB  = 105,88-10+ln(0,4)/ln(10) = 0,000030343 

m
idC  = 100,038  = 1,091440336 
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idA ,  = 0,0000  = 0,000000000 
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m
aiA  = 0,00040 = 0,000400000 

m
aiB  = 104,54-10 = 0,000003467 

m
aiC  = 100,060 = 1,148153621 
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